



2020-2021 Registration Form

Student Name: _____ Birthdate (M/D/Y): ____ / ____ / ____

What name does your dancer prefer to be called in class? _____

Is your dancer female, male or non binary? _____

What pronoun does your dancer prefer? (ex: she/her, he/him, they/them) _____

Grade entering for September 2020: _____ Age Division: _____

** Age divisions: Intro to dance Ages 4-5, Mini Ages 5-7, Junior Ages 8-11, Inter Ages 12+*

If your dancer is age 7 turning 8 as of January 2021, your dancer can enrol in the Junior Dance Division.

Address: _____ City: _____ Postal Code: _____

Parent/Guardian: _____ Emergency Contact: _____

Phone #: _____ Email: _____

Allergies, injuries or other notifications: _____

Class Length	Total cost & Term Payments
30min	\$310.50 (3 payments of \$103.50 + HST)
45min classes	\$465.00 + HST (3 payments of \$155.00 + HST)
1hr classes	\$621.00 + HST (3 payments of \$207.00 + HST)
Semi Private classes	\$30.00/class + HST
Private classes	\$50.00/class + HST

Semi/Private classes are available for the full year, by term or by session.

PAYMENTS

Class fees do not include costume fees and applicable taxes. Momentum Dance Arts accepts payment via e-transfer, cheque and cash. There is a \$30.00 charge for NSF cheques. Payments are divided into three terms: September 8th 2020, December 30th 2020 and February 28th 2021. See payment schedule below

- Registration Fee - \$30.00 + HST & Payment 1 Due September 8th 2020
- Payment 2 Due December 30th 2020
- Payment 3 Due February 28th 2021
- Recreational Costume Fee - \$125.00 + HST (Due December 1st 2020)
- Competitive Costume Fee - \$175-250.00 + HST (TBD January 2021, 2020)

*There is a 5% fee for any late payments past 30 days***

CLASS SELECTIONS

Place a check mark beside the classes you would like to register your dancer for. If you are registering multiple dancers, please fill out a separate form for each. You will receive an invoice with your total and any discounts (if applicable) within 1-2 business days of submitting this form to info@momentumdancearts.ca.

WEDNESDAY CLASSES

<input checked="" type="checkbox"/>	CLASS & INSTRUCTOR	CLASS TIME	PRICE	COSTUME FEE	RECITAL CLASS	QUALIFIES FOR LOYALTY DISCOUNT
<input type="checkbox"/>	Int. Ballet with Michelle	Wednesdays 5:45-6:45PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input checked="" type="checkbox"/>	Int. Jazz with Victoria	Wednesdays 6:45-7:45PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Int. Contemp with Victoria	Wednesdays 7:45-8:45PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>

THURSDAY CLASSES

<input type="checkbox"/>	Acro Lvl 4-6 with Michelle	Thursdays 6:00-7:00PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Acro Lvl 1-3 with Michelle	Thursdays 5:15-6:00PM	\$465 + HST (3 payments of \$155 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Acro Lvl 7+ with Victoria	Thursdays 7:45-8:45PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Mini Jazz with Kendra	Thursdays 6:00-6:45PM	\$465 + HST (3 payments of \$155 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Jr. Jazz with Kendra	Thursdays 5:15-6:00PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Int. Tap with Kendra	Thursdays 7:45-8:30PM	\$465 + HST (3 payments of \$155 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>

SUNDAY CLASSES

<input checked="" type="checkbox"/>	CLASS & INSTRUCTOR	CLASS TIME	PRICE	COSTUME FEE	RECITAL CLASS	QUALIFIES FOR LOYALTY DISCOUNT
<input type="checkbox"/>	Int. Conditioning with Kendra	Sundays 1:15-2:00PM	\$465 + HST (3 payments of \$155 + HST)			<input checked="" type="checkbox"/>
<input checked="" type="checkbox"/> FULL	Int. Ballet with Michelle	Sundays 2:00-3:00PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Pointe with Michelle	Sundays 3:00-3:30PM	\$310.50 + HST (3 payments of \$103.50 + HST)			<input checked="" type="checkbox"/>
<input type="checkbox"/>	Jr. Ballet with Michelle	Sundays 12:15-1:15PM	\$621 + HST (3 payments of \$207 + HST)	\$125 + HST	<input checked="" type="checkbox"/>	<input checked="" type="checkbox"/>
<input type="checkbox"/>	Jr Condition with Michelle	Sundays 1:15-2:00PM	\$465 + HST (3 payments of \$155 + HST)			<input checked="" type="checkbox"/>



COVID-19 POLICIES

- No parents, siblings or guardians are allowed in the facility. We will be strictly operating on a drop off/pick up system.
- Faculty will escort younger dancers in and out of the facility.
- Upon arrival, dancers MUST have their temperature checked by a staff member and sanitize their hands with provided hand sanitizer.
- Masks MUST be worn when entering, exiting, moving between studios, and using the washroom. They may ONLY be removed while dancing, however we recommend that dancers wear masks at all times, even when dancing.
- Dancers MUST arrive in their dance clothes with minimal belongings and leave their shoes at the door.
- Dancers MUST remain in their assigned tape square during class and keep a 6ft distance at ALL times.
- Dance rooms, equipment and high touch surfaces will be sanitized regularly. We will provide dancers with hand sanitizer in between classes.

REFUNDS

Registration fees are non-refundable. Refunds are not applicable for classes that have already occurred. Should a second wave of COVID-19 occur, our schedule will move to a virtual program. Tuition fees may not be transferred between dancers and/or dance seasons.

In order to officially withdraw from a class you need to provide Michelle Fox with written notice in email format including the following information: (Your name, your dancer's name, today's date, the reason for withdrawal from the program(s). This email is important as it is used to calculate any potential refunds if you are eligible. This email must be confirmed as received by MDA.

ENROLLMENT & CLASS PLACEMENTS

In order to secure your spot in our program please do the following:

1. Fill out and sign this form either manually or electronically.
2. If sending electronically, send as an editable PDF/word document. Registration forms are due on to September 8th to secure your spot.
3. Within 1-2 business days after receiving your registration form, Michelle will send you your tuition breakdown per term. Your placement in class(es) will be confirmed once payment has been received.

Momentum Dance Arts reserves the right to cancel a class with insufficient enrolment, we require a minimum of 4 dancers to run a class. We pride ourselves in providing quality dance education. During the first few weeks of classes we assess all dancers to make sure they have been placed in the correct class for their skill level and ability. Any changes that are necessary for the benefit of the dancer will be discussed with the parent and/or dancer to ensure a positive, fun and educational year.

PHOTO/VIDEO/EMAIL RELEASE

Any photos or videos taken in classes or at performances may be used by Momentum Dance Arts for advertising and promotional purposes. All photos will represent a positive, family friendly nature. I give my express consent to use any photos/videos for advertising and promotional purposes. Momentum Dance Arts uses electronic mail to communicate with parents and dancers. I give my express consent to receive news, announcements and Covid-19 updates via email.



2020/2021 CLOSURES & IMPORTANT DATES

- Sept 8th - Last day for loyalty/early bird discount, no exceptions
- Sept 30th - First day of the 2020-2021 season
- Oct 11th - Closed for Thanksgiving
- Dec 1st - Recreational costume payments due
- Dec 16-Jan 2nd - Closed for winter break
- Dec 30th - Term 2 payment due
- Jan 3rd - Back to dance after winter break
- Jan 20-21st - Closed for ballet exams
- Feb 15th - Closed for family day
- Feb 28th - Term 3 payment due
- Mar 13-20th - Closed for March Break
- Mar 27-Apr 5th - Closed for Easter & Passover
- May 19-20th - Closed for free Hair/Make-up workshop
- May 23rd - Closed for the May long weekend.
- June 19-24th - Week of recital (Date TBC pending Covid theatre policies)

WAIVER

By participating in any virtual, in-studio or out-of-studio locations, I agree to release and to hold harmless Momentum DanceArts and its affiliated faculty and guest teachers from any and all liability, whether based on negligence, contract, tort, statute or otherwise, for any claim, judgment, loss, liability, cost and expenses (including, without limitations, attorney's fees and costs) arising out of or connected with Momentum DanceArts. I, or my child(ren) attending virtual, in-studio or out-of-studio locations including but not limited to any claim arising out of or connected with any illness or injury (minimal, serious or catastrophic) that I, or my child(ren) may incur or sustain during virtual, in-studio or out-of-studio locations.

Momentum DanceArts is not liable for any lost, stolen or damaged articles belonging to any person brought into our facility. If you are taking class with an injury, please fill this out on page 1 of our registration form as well as let each of your instructors know. Make sure you are modifying the class(es) and you are working within the recommendations of your doctor/therapist.

The novel coronavirus, COVID-19, has been declared a worldwide pandemic by the World Health Organization and COVID-19 is extremely contagious. Momentum DanceArts has put in place preventative measures to reduce the spread of COVID-19; however, we cannot guarantee that the participants will not become infected with COVID-19. I acknowledge and understand the risks associated with being in a public space during the COVID-19 pandemic and do not hold liable Momentum DanceArts for any virus or illness contracted while participating in classes. If my dancer(s) have travelled outside of the country, I will advise Michelle Fox regarding my dancer(s) travel details and health upon return and abide by Health Ontario's quarantine recommendations .

I accept all above policies and conditions. Parent Name: _____

Parent Signature: _____ Date: ____ / ____ / ____